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AT - I/PART - 1
I ferg td RIENeTe/ CHILD DEVELOPMENT AND PEDAGOGY

T : e goat & auv 37 @ g q98 afed [A#eq gl

Direction : Answer the following questions by selecting the most appropriate option.

1. Frslraeen § T # 9T e & o
ETF ©
(1) Een
(2) T e
(3) TS HA
(4) THE HTETX HEAT

2. UF qCH & AHEIHT & HATE &
O T et § @ -

3. U fRIR & "3 & vy ¥ Frefifaa
¥} 7T w9 HA R 7

(1) g afrafeg siftem g aRafda
Bl B 1

(2) G =t B R

(3) 9% AT A @ A JI A T

(4) HAT 9@ I F TG oA B

4. TR farem & avd @

(1) A Brearelt # QHe H-H6
q QU T

(2) T Prearelt @ BT e
§ QU T

(3) =faaa frrarell & ffire R
9 QT FHA |

(4) R el #1909 SR
3R QU HE
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1:

To cooperate the adolescent it 1is
essential to

(1) Inspire

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

modified by learning.
(2)
(3)

Emotions are permanent.

Every emotion is accompanied by
a feeling.

(4)

Emotions are aroused by external
stimuli.

Inclusive education means
(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom.

(3) Meeting individual differences in
special schools.

(4)

Meeting individual differences in
home based instruction.

P.T. O.
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(3) T dE9 § A4 FW A
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(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral
inculcated among the students when

values can be effectively

teacher

(1) Frequently talks about values.
(2) Himself practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.
(4) thinking about ways of reacting.
Best method of dealing with adolescent
by parents and teachers is
(1) Autocratic

(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is not a

characteristic of social development in

adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards
opposite sex '

(3) High
relationship

decrease in  friendly

(4) Extension of special interests
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10.

11.

12.

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing
‘mistakes

without  committing
(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive
Evaluation (CCE) aims to evaluate
(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.
(4) The.u__g_x,dgfstanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Léarning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

3 the

Recognization of
matter.

subject-

(4) Completion of content.

P.T.O.
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15.

16.

17.

18.

Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is

not suitable to meet individual

differences among learners ?

(1)

(2) Adequate facilities and material
should be provided.

Their abilities should be assessed.

(3) Labelling them.

(4) Making Individualisation necessary.

Working with
particularly maladjusted one, which is

adolescents,

not appropriate ?

(1) Critical approach
(2) Democratic approach
(3) Collective approach

(4) Ideal approach
Heredity plays most important role in
the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child

(4) Cultural development of the child
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(3) FHUF NfENE FE BE &
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(4) BF ‘G’ I & a9 g1 -
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(1) @R & FE|
(2) FAE H I
(3) ATCHIHT 1 g
(4) wgR 1 FrEm
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19,

20.

21.

22.

A
The

learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

2 It make content
interesting.

(3) .It helps to understand the content
by simple methods.

helps to

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?
(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of
classroom ?

(1) Students
draws conclusions and compare
their findings.

the
constructivist

following is

design experiments,

(2) Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for

answer.

the 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.T.O.
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(8)
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(1) SAeie e sty

(2) o FrareTs srafy

(3) yd-FrareT® srafy

(4) F=3 fq srafy

UF dITh H GoRHal H &Y A 2,

HHEHF Iy I T oaAT HERTS
[T & WX FIEIR 8, 98 IS B

(1) <R Jafs o .

(2) =0 RS o

(3) s a=R

(4) |19 AT 3gfRs TR

qe SAIRF AHF 9 N Rl e
F ATH B, PG B g9 g9
@ & Y99 FA 2, el &

(1) ety (2) SR
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EAIRS 1L B A S e e
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(1) famed & wprediy
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(3) |Mg ¥ fafyre

(4) R

Level-3/181

23.

24.

25.

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that

arouses, directs and maintains
behaviour is called as
(1) Interest (2) Opinion

(3) Attitude (4) Motivation

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal
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(1) STEHHEH

(2) LI
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(4) 9T

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.
(2)

It stresses the importance of

enquiry, observation and

investigation.
3) It
knowledge to the learner by the

emphasises transmitting

teacher.
(4) It uses methods like experiential

learning, problem solving, concept
mapping and creative writing.

A child's attitude 'I do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence

(3) Denial

(4) Retrogression

Level-3/181
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(@) T fored e € (1) e AP
Level-3/181 P.'T. O.
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HIT - III/PART - 111

ST - 11 ($ASHT)/ LANGUAGE - 11 (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

[ suddenly realized I (watch).
(1)
(2)
(3)
(4)

am being watched
have been watched
am watched

was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

COPT. e = Plentiful

Level-3/181

64.

65.

66.

‘1 don't enjoy going to the dentist.’
The

sentence is a/an

word ‘'going' in the above

(1) Present participle
(2) Infinitive
(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of
the given sentence :

Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
park.

Mother told us not to go to the
park.

(3) Mother said us not to go to the
park.

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) Ee off your trolley

(4) on cloud nine



67.

68.

69.

Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction., -

(1) The painting would be sold at

auction. .

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epiéx‘am

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt?

(1) incongruous
(2) chronological
(35 synchronus

(4) sympathetic

Level-3/181

(15)

A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

T

72.

(1)

2

3

4)

@

(2)

(3

(4)

(1)
@
(3)

(4)

My brother is the student in
Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mayo College.

My brother is a student in Mayo
College.
Neither of them were present

there.

Neither of them was present

there.

Neither of them present there.
Neither of them are present
there.

The roses smell sweet.

The roses smell sweetly.

The roses are smelling sweetly.

The roses are sweetly smelling.

P10



73. (1)

(2)

(3

(4)

74. (1)
(2
3)

(4)

75.

Choose

You certainly did not ought to do
it.

You certainly ought not to have

done it.

You certainly did not ought to

have done it.

You certainly ought not to have

been done it.

Who was the book given to ?

Who the book was given to ?

The book was given to who ?

Whom was the book given to ?

the correct  phonetic

transcription of the word 'Locate’

(1)

(2)

MTuket/

Nokeit/

(3) /ou'keit/

(4)

/lauket/

Level-3/181
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76.

77.

78.

Choose the correct direct speech of

the given reported speech :
He said I'd better go because it was late.

He said, "You'd better go because

(1)

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

He said, "You'd better go because

(4)

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.
(3) My father put his foot down when
I said I wanted a car for my
seventeenth birthday. He said I

was too young,

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/181
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A
dull and ignorant people, how many cunning
knaves, how many well-meaning fools are

without it ! How few have it, how little do

- they or others know of it, except from the

infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P. T, O



82.

83.

84,

85.

What is not a requisite of common
sense ? :

(1) the wutter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

an unbiased freedom of mind

4)

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.
(2) Common sense requires the

utmost simplicity and sincerity.
(3) Common sense feels the air of
truth and propriety as the fingers

feel objects of touch.

the
native simplicity and warps and

(4) Common destroys

sense

trammels the freedom of mind.

Fill in the blank with the most

appropriate word :
has been well

pronounced to be ‘fairly worth the

Common sense

(1) Notions
(3) Talents

(2) Scier}ges
(4) Wits

Which is not a synonym of the word
'pedant' ? 9

(1) dogmatist
(2) formalist
(3) perfectionist
(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

87.

88.

89.

90.

child should learn to read and

(1) All
(3) Whole

(2) Every
(4) . Both

........... , do you think
TV violence is harmful ?

Can I ask your

(1) opinion (2) favour

(3) question (4) advice

Where is my wallet ? I left it
the kitchen table.

(1) at (2) in

(3) on (4) by

Take some medicine and the pain will

-/ s A x
(1) back (2) off

(3) out (4) away

The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking

(3) walked; walked

Level-3/181

(4) have been walking; had walked
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| HET - IV / PART - IV
F*YeT A / COMPUTER SCIENCE
R : Ffarge go7f # gv &7 % kg @98 afaT e ghg)

Direction : Answer the following questions by selecting the most appropriate option.

91.

92,

93.

94.

95.

........... W P IOE oE9d B T
U% T HAd F 8 |

(1) g (2) @

(3) = (4) s

.......... wET g § AT
uFECafafe! 1 7aE Fl ¢ |

(1) TEfET

(2) drefRfEH

(3) FeRH

(4) |t faseq o &

TF INCET # AN F =R I e
......... FEArH 2 |

(1) R value (2) Lvalue

(3) D value (4) Var value
RiET 20 e, SfqRex e 211
(1) ifoThe

(2) HfEIa

3) Rasma

(4) URgAfeE

SQL FHT ¥ TH A W d R
dffoehatt ofaT o e B S ...l
Fead 1

(1) e

(2) #ge

(3) A

(4) SifestFe

Level-3/181

91.

92.

93.

94.

95.

in values processing of all

elements in an array one by one.

(1) Inmsertion (2) Searching

(3) Merging (4) Traversal

feature supports reusability
and extensibility of classes.

(1) Overloading
(2) Polymorphism
(3) Inheritance

(4) All options are wrong

Value stored in the memory of a
variable is called its ............ .

(1) R value (2) L value

(3) D value (4) Var value

The symbol ? : shows ........... operator.
(1) Logical

(2) Conditional
(3) Relational
(4) Arithmetic

SQL commands consist of one or
more logically  distinct
called ....civuiien :

parts

(1) Argument
(2) Keywords
(3) Clause
(4) Object
P; T 0;



97.

98.

99.

100.

= & & aF-ar sfRfen R & a9
TR ?

(1) T Feee
2) f&@F Aaeme
(3) PrES A
(4) AT ewH

FE SN @
Zefereig @@ sl § ?

(1) 2nd

anféfefaEa

(2) 3rd

@3) 4 @ 5

......... Fra Rl #=0 3 Reiee @
UF A7 fE Pew F A9 B B

(1) ORDER BY

2) ALL

(3) WHERE

(4) DISTINCT .

.......... TR wRE R O
T ofsre oo e 'L,

BN

(1) TFgwed

(2) TR T

3) T

(4) a4 e o 8

Level-3/181

96.

97.

98.

99.

100.

(1) 2nd

Interlinking means linking ........... ;

(1) Same document

(2) Same image

(3) Different doc{lment
(4) All options are wrong

Which is not a function of operating
system ?

(1) Memory management
(2) Disk management
(3) File management

(4) Virus protection

Which generation of computers are
based on artificial intelligence ?

(2) 3rd

@) 4" (4) 5

............. clause allows sorting of query
results by one or more columns.

(1) ORDER BY
(2) ALL

(3) WHERE
(4) DISTINCT

............... Programming style is a
single entry  single exit program
construct.

(1) Exploratory
(2) High level
(3) Structured

(4) All options are wrong



101, frfafad C++ Som # eTGeye #:

102.

103.

g7

#include <iostream.h>
intx="7;

void showx ();

void showxagain ();

void main ()

{
showx ();
showx ();
showxagain ();
}
void showx ()
{
int x = 34;
cout << x++ << endl;
}
void showxagain ()
{.
cout << x++ << endl;
}
(1) 35 (2) 36 (3) 34 (4 35
36 35 34 36
37 8 T~ 8

Tq U g8 § "Goto" FHIE F UEHT

P 2l

(1) F4 (2) F5

(3) F3 (4) F2

........... wWosd TRY 3 fU ofete
am T

(1) Typestd

(2) Typealt

(3) Typedef

(4) &t ey o

Level-3/181

(21)

101.

102.

103.

A

What is the output of the following
C++ program ?

#include <iostream.h>

intx=7;

void showx ();

void showxagain ();

void main ()
{
showx ();
showx ();

showxagain ();

}
void showx ()
{
int x = 34;
cout << x++ << endl;
}
void showxagain ()
{
cout << x++ << endl;
} .
(1) 35 (2 35 (3) 34 (4) 35
36 35 34 36
37 8 7 8

The shortcut key for "Goto" command in
MS-Word is ............... )

(1) F4 (2) F5
(3) F3 (4) F2
provides an alternative
name for standard types.
(1) Typestd
(2) Typealt
(38) Typedef

(4) All options are wrong

2.7 O,



104.

105.

106.

107.

108.

109.

FTP $Ed SEeT 0 & g
I FARE T ITART T B |

.........

1 1 @ 3

@) 2 @) 4

............. THa o ziffer RUR=h
% FHC T i 2

(1) 1NF

(2) 3NF

(3) 2NF

(4) Tt fopeg o

T SR & TG .o £l
SITT ¥ g% g )

(1) ¥R gd

(2) ARHHEET

(3) omg

(4) TR

........... qfThe TZH & TG A |
(1) B

(2) WX

(3) fdiex

(4) |+t Feq T 2

T e ¥ Sd% offevae @ ord
39 Te fF o B 2

(1) @WEe M - FEeq s
(2) WES M - &Es gifaeH
(3) WES SN - FEed Fio1g
(4) ¥ - WEe |

..........

Forlt T A B
(1) Joige
3)

(2) e
(4) fedire

Level-3/181

SQLW‘S’WWW.

104.

105.

106.

107.

108.

109.

FTP 1868 ..o number of
connections for transferring files.

(L i (2 3

(3) 2 (4) 4

normal form is based on the

concept of transitive dependency.

(1) 1NF

(2) 3NF

(3) 2NF

(4) All options are wrong

Third generation of computers

started with the development of ....... .
(1)
(2)
(3)
4)
A uses logical addresses.
Bridge

Router

Vacuum tube
Microprocessor
Ic's

Transistor

Repeater
(4)

From where the timing for each
object in a presentation is set ?

All options are wrong

(1) Slide show = custom animation
(2) Slide show - slide transition

(3) Slide show = custom transition
(4) View - slide sorter’

ceeerereen. QL command allows to make
queries on the database.

(1) SELECT (2) CREATE
(3) DROP (4) DELETE



110.

111.

112.

113.

114,

LAN ¥ 9gF 2 amn gramee difeas

(1) For (2) Do while
(3) If- then (4) Case

T AR TRE B G A ghe F
e FeEan 2|

(1) ST TeawH
(2) BT THEHGAIH

............

(3) ST TERE SN STl TR
C

(4) g fopeq TToq &

w @y § A #@ A4y
FETT B |

(1) fei (2) IHF
(3) iAol (4) I
TS 59 JHT & °91¢ g9 ar & ?

--------

(1) fﬁfﬁmﬁmeﬁ'(m'sfaﬁ
2) % & 7%
(3) &R =1E, T W% I} O =

(4) M ax 9¢ I dEF I%

.......... T e e B
(1) AND (2) NAND
(3) XOR (4) XNOR

Level-3/181

(23)

110.

112,

113.

A

Transmission medium used in LAN
18 veeeiiennns )

Co-axial cable

Optical fibre

Microwave

Satellite

........... is an entry controlled loop.
For (2) Do while

(3) If- then (4) Case

The wrapping of data and function
into a single unit is called ............ ;

(1)
(2)
(3)

Data abstraction
Data encapsulation

Both Data abstraction and Data
encapsulation
(4)

The number of 'rows' in a relation is
called .......... .

All options are wrong

(1) Degree (2) Domain

(3) Cardinality (4) Range

114. Which type of charts can Excel

produce ?
(1)
(2)
(3)

Linéi;graph and pie chart only
Line graph only

Bar cﬁart, line graph and pie
chart

Bar chart and line graph only
............... is an Universal gate.
“ (2 NAND

g
XOR = (4 XNOR

rE O



116.

117.

118,

119.

120‘

TR T 9T PG BER BE Hed
F TE I § qaw & ?

(1) 3 e
2) @R &

(3) dfer =
(4) e e
difeqr @R
TERT B B
(1) e

(2) HeelHRe

®) ®e

(4) Y=y

wo% g frewm
HF &N A Y I AT 2 |

..........

...............

(1) 10’
(3) 1y

(@)
4) #O'
H o ¥ qgd A SAE-STHT

TN BRd, el Re==dl & o a1
T G 3 T &, F S

(1) 3TH-adcT
(2) s eRy
(3) Fwaeid

4) T

............

(1) Uit
(2) iEae
(3) WrR#HRE
(4) T faseT g &
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116.

117.

118.

119,

120,

Which feature is used to replace
straight quotes with smart quotes
while typing ?

(1) Auto correct
(2) Smart tags

(3) Auto change
(4) Auto format

The type of communication in video
conferencing is ................ .

(1) Unicast
(2) Multicast
(3) Straight
(4) Random

Each string literal is automatically

added with a .............. terminating
character.

(1) "10 2 '11

3) # (4) '#0

............. mean unification of several
otherwise distinet data files with data
those files

partially or wholly eliminated.

redundancy among

(1) Inconsistent

(2) Integrated database
(8) Conversion

(4) Unique

By default the members of a class
| RN ;

(1) Public
(2) Private
(3) Protected

(4) All options are wrong



121.

122.

123.

124,

125.

126.

@ WoReE § We FHed T @
fome -8 = F1 s R St

(1) A

(2) wrgs o
3) w3
(4) w38 W

..............

(1) Double
(3) Float

(2) Char
(4) Void

wWeE e &
T # R F =W 0 $ R g
BT B

..........

(1) 2Ty (2)

(3) ®wré (4) 3R

........... e e ¥ T8 @
ST |

(1) 3

(2) e

(3) Wfve wrEd

(4) Sy

........... Rigd & war Bl 9d 3
I%F PreH P 3@ P R B B

@ / @ *

3 ! 4 —-

........... 39 FI URL

AT & S Y R HET Amy

(1) src (2) img

3) a (4) href

Level-3/181
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121.

122.

123.

124.

125,

126.

A

In a presentation which view is used
to enter speaker comments ?

(1) Normal

(2) Slide show

(3) Notes page view
(4) Slide sorter

data type specifies an empty
set of values.

(1) Double
(3) Float

(2) Char
(4) Void

attribute is used to restart

..............

‘the numbering in an ordered list.

(1) Type
(3) Start

(2) Number
(4) Order

ceveeeneenene 18 NOt applied in paragraph
formatting.

(1) Indlent
(2) Line space
(3) Font style
(4) Justify

veeeeneee. Symbol 1s used to see every
column of a table.

1 / @ *
3) ! 49 —-
The ................ attribute specifies the

URL of the document that you want
to link.
(1) src (2) img

(3) a (4) href

P.T. 0.



127.

128.

129.

130.

131.

............

AR faeen 3 g& a9 W aed
BIEd FHS F YT ST Tl & 7

(1) Config.sys
(2) Command.com

(3) Autoexec.bat
(4) T ey g §

W9 T T BEA # 98 SiRgic §
ST AT 8, A SHH BT - BT
g

(1) T=Es

@ fiFe

(3) FRWRiFS

(4) 7% 3T ¥ T A 2

AT T & & ofd A S
g9 g SRS

...........

Affpae o FHeemr B

gl
() =F I/ () JMwEE A
3) g (4) TH

G A S 1< (G L B | i RO
o] BFIE HAT 21

1) fa= (2)" 7a
(3) I (4)" frdret
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(26)

127. A constructor with no argument

128.

129.

130.

131.

I8 asinai;

(1) Default

(2) Parameterized

(3) Copy

(4) All options are wrong

Which file keeps command to execute

automatically when operating system
is started ?

(1) Config.sys

(2) Command.com

(3) Autoexec.bat

(4) All options are wrong

When you insert an Excel file into a
Word document the data are ........... .

(1) Embedded

(2) Linked

(3) Hyperlinked

(4) Placed in word table

The SRS document produced at the

end of requirement analysis phase is
called .............. -specification.

(1) .Black box (2) White box

(3) Unit (4) Alpha

performs data translation
and protocol conversion functions.

(1) Bridge (2) Gateway

(3) Router (4) Repeater



132.

133.

134.

135.

136.

W9 TF FY JE FW & O T EN
JHH H UeAIGE AsT e
2l

(1) FEad K M

(2 92
(3) Rafen

(4) FTEU

..........

(1) 39
3) Y

HTTP FTP 3

(1) 99 o9
(2) 99 FE
(3) &

(4) SMTP.

fFel eeEg WA # T A g9 @
e e & osgd Wi,
e ==l ol s SRefrd
e 2 |

(1) Frd SEaH

(2) 3EEY fEeEa

(3) feomzd WHaEAIH

(4) =rer e

(430.25)s FT RFATRIATA FHeaoi
B

(1) (108.44),,
(2) (118.54),,
(3) (118.44),,
(4) (108.54),
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132.

133.

134.

135.

136.

A

When a computer is turned on, a
special type of absolute loader called
.............. is executed.

(1) Compile and go
(2) Boot

(3) Relating

(4) Bootstrap

of an element shows its

..............

position in an array.

(1) Name (2) Index
(3) Value (4) Data type
HTTP is a combination of FTP

and ............. .

(1) Web page

(2) Web browser

(3) E-mail

(4) SMTP

The process to properly define the
database tables to provide flexibility,

redundancy and data
integrity is called ............... ;

(1) Class diagram

minimized

(2) Database design
(3) Design rationalization

(4) Data normalization

Hexadecimal conversion of (430.25)s
gIVeS ...oovvccene

(1) (108.44),,
(2) (118.54),
(3) (118.44),,
(4) (108.54),,

P.T.0.



138. WES S & .ooveennn g | AP A

i (R FET gamdr & & fr

140, ...... senmsi amamfrfrsmaﬂ?a'ﬂﬁﬁ%

(2) THHGA

(3) TaifqasE

(4) GreiHRIEH
Level-3/181

137.

138.

139.

140.

In ... insertion takes place at
the rear end.

(1) Sort
(2) Stack
(3) Link list

(4) Queue

Slide show can be stopped by
PLCRBINIR. - voovanamases key.

(1) Right arrow
(2) Escape .
(3) Left arrow

(4) Down arrow

.............. constraint ensures that no
two 'rows' have same value in
specified column/columns.

(1) Default

(2) Unique

(3) Check

(4) All options are wrong

.................. is used to combine data

and its associated functions under a
single unit.

(1) Inheritance
(2) Encapsulation
(3) Association

(4) Polymorphism



142.

143.

144,

145,

........... PHE TH fdst 9o H@T &
Rred gadl 2o & eler @ o qedl
2 '

(1) #ae

(2) fpue

3) fruz g

(4) g fopeq g

SQL ¥ 3fywa erer ey A Sfauw
TE< d oM # el ¥ e 3w
.......... Zortet 21

(1) BFE

(@) wie

(3) sifas=

(4) @&

% UeiaeH REd oA ..
q9d G STeTSd Y G € |

(1) ToTHe

(2) . foforaa

(3) T

(4) g forpeT T §

.......... gifen & @ # oIy #@
FIT FIA & X SR J &7 F 3l
4 98 & O 99 2t 2

(1) daRH (2) &9

(3) g (4) A
AR SR H Tl
S & I Y& I AT |

(1) 1.-;I: (2) an

3) 3rd (1) 4t
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143.
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145.

(3) Bubble

A

............. command provides a window
through which one can see the data of
another table.

(1) SELECT

(2) CREATE

(3) CREATE VIEW

(4) All options are wrong

In SQL decimal data type,
indicates the maximum number of
digits to the right of decimal point.

(1) Fraction
(2) Float
(3) Precision
(4) Scalé

An application system analyst is
concerned about all of the database at
the ........... level.

(1) Logical
(2) Physical
(3) Internal

(4) All options are wrong

................ two

Sorting compares
adjoining values and exchange them if
they are not in proper order.

6V Séiéction (2) Heap

(4) Insertion

generation of computers

started to use assembly language.
(1) 1ssi: (2) znd
(3) 3rd (4) 4i:h

P.T.0.
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147.

148.

149.
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TH 2-D W A[4..7,-1..3] & 2 9= &
TR ©4 =T &7 3999 & | o
W VR o & @ & o IwE
99 UIH 100 B A A6, 2] @

G ... BT |

(1) 150 (2) 126

(3) 200 (4) 112

.......... U g gwEd fawd &
JEETT R |

(1) FaE

(2) #ffrex

(3) -2

(4) EH

fpdl alfqtve &1 fredl ey & ueaffie
FAAT eeveerevnnnns FEa €|

(1) TEY A

(2) TEY AN

(3) TEY FifkeT

(4) =29 ifhpeE

Fret § & @9-91 #gd TgEee “IF
®ede” 9T & B © ?

(1) gfer

@) 3o

(3) g

(4) | fIpeq o &

EFR INCET T . ey
2 6 S ¥

(1) . (dot) (2) * (star)

(3) /(slash)  (4) # (hash)

(30)

146.

147,

148.

149,

150.

A 2-D array A[4...7,-1...3] requires 2
bytes of storage space for each
element. If the array is stored in row-
major form having base address 100,
then the address of A[6, 2] will
be ............. .

(1) 150 (2) 126

(3) 200 (4) 112

.............. is an exainple of full duplex
system.

(1) Keyboard

(2) Monitor

(3) Walkie-Talkie
(4) Telephone
The explicit conversion of an operand
to a specific type is called ............... .
(1) Type promotion

(2) Type variation

(3) Type casting

(4) Type modification
Which of the following

expressions are valid for an
statement" ?

(1) Boolean
(2) Integer
(3) Real

control
"IF

(4) All options are wrong

The members of a structure variable
can be referenced using .............
operator.
(1) . (dot)
(3) /(slash)

(2) * (star)
(4) # (hash)
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18.

19.
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13.

14.

15.

16.

17.
18.

19,
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0O ®

The answer will be treated wrong, if it is marked, as
given below :

O B ®

If you fill more than one circle it will be treated as a
Wwrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same. .

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

» Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have lo affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances..

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them., :
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